A £ 0l &8 A E Ml A

D SEELA
D FRAM MM S2(UNTTHY/ALHE)
ONEE-L (erel: Hel)
- _ poIE [=
A - B SRA(Z) - MRAY - BES Ol &kt Olj Abo HwsS2
Al 7,405,468 6,439,809 965,659
< 24,31
Al 7,381,107
AR MR S8(UPZDUE /AP E) 3,873,007 3,769,712 103,385
e 3,873,007 3,769,712 103,385
NEELT 3,737,497 3,672,512 64,985
201 YBr2 | 3,623,027 3,541,407 81,620
01 AFR2relt| 3,519, 100 3,437,480 81,620
OHUuE =8 15,0008 * 1505 « 122 27,000
OAlZ g2t 500,0002 * 603 30,000
OAIE JI= 22 16,600
—ENGIIHIZH g H229tE 7Y
80,0008 * 57 4,000
—28 H22IIE P 100,008 * 2004 2,000
—HZE UB P 5,0002! * 2000H 1,000
— AR QI5t2 800,000 * 122 9,600
OZ=22 AKX P 13,500
KXY o 115 7,500 « 1502 « 128 13,500
OYFAAX '36.5 YF' 22t
90,000,0002 * 14! 90,000
OEAL 2O Y SHSBAF ZD(TV, 2HIR)
450,000,0002 * 141 450,000
OAlE B2 (A2, BX S)
500,000,0008! * 14! 500,000
OF2 =Ml 22 S ¢ da= A
10,000,0008! * 28 20,000
OJl8sE 22 (A=)
200,000,000 * 14! 200,000
OAFmA 2EIX MA 50,000,008 * 14! 50,000
OUeIE=s s T208 R
450,000,0002 * 141 450,000
O3¢g S 88 Al EL
20,000,0002! * 38 60,000
OHtolg 21 60,000,0002! * 14! 60,000
OMEAl ¥3t2r A3 21
20,000,0002 * 23] 40,000
OMHINIA L QIAIAT S ARIX E2IAS I
20,000,0008! * 58 100,000
OUZAl HESLS(HAl) &2 20
80,0008 * 125CH + 12 120,000
RES 7L 25,000,008 * 48 100,000
Ostel WAl &= 3D 25,000,0008! * 48 100,000
OKTX DA% 2D 25,000,0008! * 23 50,000
OEE2HII|LARS &A 24
70,0008 * 6% * 23] 840




2A: E2EAR
M FOAIM MN E9(UUDIHE/ALIE)
el ANEER (el & 3)
S - HE . BRI(BIH) - HIRAKY - BAS Ofl Aot da HIDS2
- ) - S/ o= 01|ﬂ'°—,” Wsa
EEEEPIEEEEEECE
90,0002 * 6 * 23 1,080
OX SENIEE 29 7,680
—22| 7,0002 * 10 * 25| » 12€ 1,680
—APRL QAL B L BE
250,0002 * 23| * 128 6,000
OZZLHI9 BE2lE £=0E<|
50,0002 * 42 * 122 2,400
OSSA2 UZAl SA 2D
3,000,0002 * 1144 » 102 330,000
OS2 22101 28 0HE
30,000,0002 * 103] 300,000
OUZAIXS 2R =8 20|
2,500,0002 * 16IHA * 102 400,000
02 2z2%H| 103,927 103,927 0
OAIYOIAH AIR2
165,000 * 350K * 12 69,300
OB EEQLIE QX E2H|
300,0002 * 12% 3,600
O=AEH| QX 10,425
—HICIIHHIZH &)
25,240,0002 * 2CH * 3/100 1,515
—HICIIt0I2H TH)
130,000,00094 * 2CH * 3/100 7,800
—CIXIE32  5,000,0009 * 200 * 3/100 300
—HI[QERME 27,000,0002 * 3/100 810
Oc=2aY| € 282 1,000,0002 * 14l 1,000
OOPI0IEAIAE ATEY 0 X|E4H|
197,997, 7402 * 9/100 * 1.1 19,602
203 HREXH| 7,000 6,750 250
FEESSEEESSE 7,000 6,750 250
OFQAIM 28 42 =X 7,000,008 * 14! 7,000
301 LB E2 3,780 3,240 540
09 SHAFAIHI X2 3,780 3,240 540
OEBUAI S EBESY
90,0002 * 7% * 32 * 23| 3,780
303 ZAZ 6,000 8,000 A2,000
01 ZAIZ 6,000 8,000 A2,000
O=EE 252K Al&t
1,000,000 * 30E * 23 6,000
307 Q12+0| & 79,200 103,171 A23,971
02 QIZHAAMAIIE R 41,200 70,485 A29,285
OYFAULELYS NV (2XE JN)
30,000,0002 * 14 30,000




2AN. E8HAA
HH: FQAIM MN S0(YUDDUE/AYHE)
R ANEEER (S H )
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
Oe2SEHW AFAIKE A BE(EXE 80%)
11,200
—OLIZZ=0ISAIE 2SAIY
2,000,000& * 1A! % 80/100 1,600
—EH=D| Lis At
5,000,000& * 14A1 %= 80/100 4,000
—UBIAIR! O DSBHY I B RIS U DAY
5,000,000& = 141 = 80/100 4,000
—FAE OIFAIQ W=AMSA
2,000,000& = 141 % 80/100 1,600
03 SIZIHBHE2HEHIE X 38,000 32,686 5,314
Oe=2XSEAHW A=AIXS S2IH|(EXE HH)
38,000,000 * 14! 38,000
405 KHaHEISHI 18,490 8,000 10,490
01 AL =SF SHI 18,490 8,000 10,490
OANEEE JaEY JYEE Jtner 2
12,000,000& = 14l 12,000
OYarze BXTH|(R2=8E, S2H0|H) P
1,540,000 * 14! 1,540
OMREAE E2 2 4,950,000& * 1A 4,950
SOICIHE &sst AIEEE 135,600 97,200 38,400
201 L2 AH| 91,300 63,000 28,300
01 AFR2teld| 91,300 63,000 28,300
OGNS &2 =ZHEI= Jig & HIZ
40,000,000& = 14! 40,000
Os&sE g8 =Zdx X&
40,000,000& = 1A 40,000
OIPILE 22X &2 MHIA
16.5& = 20,000& = 303l 9,900
OREE & S2d A=Y
20,000& * 29 = 104 *» 23| 800
OSNS =2H4= HIE 20,000& = 309¥ 600
301 LdEtENZ 38, 100 28,000 10,100
09 SHAIAHIXIR 2 8,100 2,700 5,400
OSNS == SHAL ZHA AlH| B4
90,000& * 30 * 13 2,700
OSNS E2¢ct 3|9 &AM (dH| X
90,000& * 15Y = 43| 5,400
12 JIEI2 A= 30,000 25,300 4,700
OSNS 24 s 20,000,000& * 14! 20,000
OSNS O|HIE &KX JIES
10,000& = 508 * 103/ 5,000
OREE BBYY ZRH(E 20)
5,000,000& = 1A 5,000
303 ZAZ 6,200 6,200 0




SH BEEAA
B FQAIM MAN BU(AVDIUN/UIHE)
9l AIFES (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
01 Z&= 6,200 6,200 0
OREE 94 TRH(X)
5,000,000& = 14| 5,000
OSNS B S+SHRA T
1,200,000 14 1,200
HESAI (LB S 3T/ ABHH) 2,999,798 2,178,157 821,641
[ 24,361
Al 2,975,437
HE =23 = 2,793,600 1,895,135 898,465
S 5,331
Al 2,788,269
HFMA 2e| 7K 1,659,607 1,086,916 572,691
201 k=2 1,104,615 918,759 185,856
01 AtR2t2|H 71,050 43,100 27,950
OtholetA =28 & WPCXI2101
37,400,000& * 14 37,400
OH&EH gXtz 200,000& = 30CH 6,000
O&EHEH] =&H| 30,000& = 50CH 1,500
OTAEH] A2F 2(UTPAI0IZ, AHUE S)
70,0002 * 155 33 3,150
OdHZEHE # LT0 HIOIZ WXl
23,000,000 = 14 23,000
02 SE=gH| 1,033,565 875,659 157,906
OCIHY &E3ld A2 270,000
—=% 1,000,000& * 12 12,000
—AE A2 700,000& * 123 8,400
—NH012, AlgA, E8S SUHEEH
400,000& * 52=|& « 12 249,600
OHatY ArZRE 112,968
— 2B QIHYAIEE
30,000& * 1072l » 128 38,520
—SHIHIU(SSA0III0I) AER
33,0003  188=2/M » 12& 74,448
Ot dE2e|0IY HE ALZE
400,000& * 12 400
O#HZFLZ2A2(0] MS HESZ(WS)
2,500,000& * 128 30,000
OdstE AlZZ 300,000& = 12 3,600
OEEPC AIER 3,550,000& * 12& 42,600
OloTdZE AIZZE 8,800& * 300CH * 128 31,680
Ofdte SHHMAZX UiEC WX
360,000 = 60K 21,600
OAEEHISNHI(ZBAIAY SERIIES) 515,317
—CIOIEfHIOI A2t AIA B (DBMS) RAIE =] 19,096




SN BEIAA
M HESIAIY(YPHBIHT/AsHE)
Sel #N 25 Fx (el @)
(=] X XH . Cl2l( S (=] I =2 OH @L‘j—":— =2}
2-LieH(gRZel)AIAE 2 45
124,000,000 * 14/100 * 1.1 19,006
—GOtEAO RXI2==H| 180,411
- 2-LigH PR AAE 2 37E
2,343,000,000& = 7/100 » 1.1 180,411
—2TEANH FXE4 101,970
- 2-LicHPRAC)AIAE 2 215
927,000,000& * 10/100 * 1.1 101,970
—S2oHEH| RXI2==H| 213,840
- YO SHOHAIAE 2 BB
1,944,000,0002 = 10/100 * 1.1 213,840
OFLHEH| RT3 84X & I=0|H
30,000& * 180CH 5,400
308 XHXIEHXISOIH 169,178 168,157 1,021
1N S| 2SO CHeH B A E R EAIS ] 169,178 168,157 1,021
O2-Ligt 1.0 EMAIAE St
18,475,000& * 14l 18,475
ORXXIEHH SSI18t L MHSETAIAE |2t
115,131,000& * 14! 115,131
OXNYTHEZL|A A (e~ X) RAI2L
29,012,000& * 14l 29,012
ONLHESSHESAIAE AEHHEH X2
6,560,000 * 14! 6,560
403 XXISHMEXH=0(H 385,814 0 385,814
02 S| 2SOICHEtAR=H LI AL 385,814 0 385,814
O2-Lict 2.0 2MAIAE M8 2=
385,814,000& » 14l 385,814
dAoEH B35 1,050,930 653,880 397,050
201 B2 206,080 154,880 51,200
01 AFR2teld] 206,080 154,880 51,200
OYRELATEY N 7 185,080
—8H IlA 74,0002 * 42004 31,080
—MS 2IjA 290,000& = 31074 89,900
—OI0IXIEHE 600,000& * 2074 12,000
—sgaEE 1,300,000& * 274 2,600
—&HAECHEEY 500,000& * 907H 45,000
—OdIoIEHIOIA 2e|E2 e
200,000& = 69H 1,200
—CIXQIS3HE 600,000& = 3K 1,800
—SNS 2E= MAE 0I0IXl 2ol A
1,500,000& = 174 1,500
OHE L SEIASIAIAE HIRel S&
3,500,000& * 6IH 21,000
207 AN 180,000 80,000 100,000




A SEHAA
B HUSAL(UUDDUE/UsE)
5 ®s XA chel @
SA - B O9(3H) - MRAIY - BAS 0l & el
AR 180,000
HOIE P EEPoIE| 24 1%
9,000,000& * 14| 9,000
OHNI2I=2AIAE SSO 20l A AS
3,300,000& * 14| 3,300
SANSHBSATERN(Z0/A010]) 7
34,300,000& * 14 34,300
=2-Ltet 2.0 ¥ 2tolaAa Y
2,500,000& * 44 10,000
EOF USB AIAE! WK 51,000,000& * 14 51,000
Aarze] & 28 ATEN 22IAIAE WXl
46,000,000 * 14 46,000
SHAQ AISISAIAE JIsSHE
26,400,000& * 14| 26,400
AF SHI 664,850 419,000
MASEFSHI 664,850 419,000
2-Liet 2.0 BAFBI(VIL) +
39,000,000 = 1CH 39,000
HYFE ASTEHI(VPN) L
42,000,000 * 204 84,000
=Ml UERKZ AKXl Xl
3,700,000& * 15CH 55,500
HA A 2 HEAE UE 2 D
7,000,000 * 6CH 42,000
OYRE HMLHEHl 7 283,000
—tA3as 1,300,000& * 160CH 208,000
—2LIE 300,000 * 160CH 48,000
—IEIfH 500,000 * 30CH 15,000
=t 2,000,000 * 6CH 12,000
OHFTDAIAE SEAECIX 4
97,000,000& * 14 97,000
QCHEHDAIAE 2K SSAECX S4
64,350,000& * 14 64,350
HAYES =3 i 11,595
U2 IH| 11,59
Lzl 11,595
HEEo & WCIREES WS
125,000& * 162 2,000
AR 7RFE Y HE3 s Wi
15,000& * 233 * 77| 2,415
NE KR5S U ¥95 DR MR
50,0003 * 12A12F = 77| 4,200
OEESU=FE ARESHI 50,0003 * 12& 600
OEESUSE A8 4| 2,380
—2EE 2
100,000 = 23CH * 33| = 20/100 1,380




SN BREAA
M HPSIAI (BB T /U E)
S9N NBgt = (242 &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
—Tele a2l
100,0002 * 1CH * 28| * 50/100 100
—oelg &l 200,0008! * 104 * 23] 400
—yneMe 42 500,002 * 1CH 500
HAHIA 245 53,700 122,800 269,100
201 Lur2y| 53,700 47,800 5,900
01 AR 22l 53,700 3,800 49,900
OHHOIE 24 Al2ts AZE0 PY 3,300
—32/0ll0lEf 1,100,000 * 144 1,100
— 504 220,002 + 104 2,200
OHHOIE 248 SIREI0IH 7
4,200,000 + 122 50,400
(S)HA ZB2HOIDN0| YRSY(IIETXIR) 17,768 21,154 13,386
= 5,331
Al 12,437
201 LBr2 | 17,768 21,154 £3,386
= 5,331
Al 12,437
02 ZZ=ZH| 17,768 21,154 13,386
OA 2TLA0ITI0l YR B2
23,8812 * 6204 * 122 17,768
= 5,331
Al 12,437
NEEEEIE= 206,198 283,022 76,824
= 19,080
Al 187, 168
EHOIX 29 87,120 131,840 £44,720
201 LBr2| 62,920 31,840 31,080
01 AR 22l 28,000 0 28,000
09I SHAAH IASL(H22l %)
3,500,0008! * 87H 28,000
02 BZ2H| 3,920 31,840 3,080
OUHE! BMHIA 2QI0IS AHIA A2
600,000 * 2JH 1,200
OUHZ! |AHIA BIZI00IE QISAHIA AIBE
350,008 * 2JH 700
OZHI0IX JIs =0t 2,000,008 * 23| 4,000
OAl ZHOIX SERXI2+
200,000,0002! * 11/100 * 1.1 24,200
OQIEY SO JI2HIE & Jtl| 4,820
—g2cHel 30,0002 * 91JH 2,730
—s25HQl 66,0002 * 25JH 1,650
—Zhio 5= 20,0008 * 24 440
405 XHAHE S 24,200 40,000 15,800




2N SEEAA
M HISIAI (LI IS/ ABEHE)
=@t NEEEs F& CERE)
i _ - PIE]
S - 3 - R(SH) - MRAY - BAS Ol &k OH '@Eou HwES2
01 TRILEZF=SHI 24,200 40,000 15,800
OARY 14 A=IX| wXHl 24,200,000& * 14! 24,200
AMRIZES} AIY =& 13,560 13,310 250
201 2| 13,560 13,310 250
01 At22teld| 13,560 13,310 250
OASIEES ws Wl
15,000 * 233 * 47| 1,380
OAIRIEES nE AR
50,0002 * 30AIZ2+ * 47| 6,000
OFLUHZO0IEAE AREEH
50,000& * 122 600
OFUEHZ0IEAE A2 44| 5,580
—Z=H =2l 100,000& = 54CH = 20/100 1,080
—Zgly =22l 100,000& = 18CH * 50/100 900
-zl &Y 200,000& = 18CH » 13l 3,600
(E)dL230l2 T2 224 4 44,768 43,002 1,766
< 11,030
Al 33,738
307 g12+0l& 44,768 43,002 1,766
< 11,030
Al 33,738
02 QIIBAANHEE 44,768 43,002 1,766
O&EL30te Tz g2t 29 44,768
—QIFe 22,980,000 * 2% = 80/100 36,768
< 11,030
Al 25,738
—4UHEE & EX3 8,000,000& = 14! 8,000
dEs =29 30,750 31,870 21,120
201 LEt2EH| 15,670 13,470 2,200
01 At22teldl 3,000 3,000 0
OZ 2302 E2=(H, BES S) MEYI
1,500,000& * 2902 3,000
02 Z=24H| 12,670 10,470 2,200
OZ L3802 SHI0IXl R+
35,000,000 * 11/100 * 2902 * 1.1 8,470
OFZ30Ie FEHH MARY| M4 3,200
—ARE, 2LIH =2l
100,000& = 123 * 2044 2,400
-z EYH 200,000& * 23| * 2044 800
OABAMCAIGC HB3I0IE AE R
1,000,000& * 14 1,000
301 YLEEZ 11,320 8,640 2,680
09 EAABIXIEZ 4,320 8,640 N4,320




SN BREAA
HE: HESIAI(LBIDDUY/ LB E)
el XAELE = (Sr9): @)
) . He =
SA - FH . C2(32) - MISAIY - BAS 0fl by 0l arod AImE=ST
OFES0r2 HAE 20 ol
90,0002 » 69 = 3 * 200 3,240
OFLBI0IE FAHWFE FI ot
90,0003 » 29 = 32 * 2004 1,080
12 JIEtE A= 7,000 0 7,000
OZsi0le XA bl X
7,000,002 * 29H4 * 50/100 7,000
307 BI2H0IH 3,760 9,760 26,000
02 QIHHAMHES 3,760 9,760 26,000
OFLBI0IE HAEYER/ENNTE S &0t
KNJA(2XE 80%) 4,700,0002 * 141 = 80/100 3,760
BEEENEERPEE 30,000 10,000 20,000
= 8,000
Al 22,000
307 21201 F 10,000 10,000 0
= 2,000
Al 8,000
02 QIHHAMHES 10,000 10,000 0
OZEsS8dsi 5,000,000 * 2702~ 10,000
= 2,000
Al 8,000
402 212EXH201 M 20,000 0 20,000
< 6,000
Al 14,000
02 QIZEXHE AT 2 (01X THS) 20,000 0 20,000
OFPsI0IS2I LRI A
20,000,000 * 1002 20,000
= 6,000
Al 14,000
Silze|(Lers3 e/ dered) 422,403 383,086 39,317
shlze] 422,403 383,086 39,317
shlze| 422,403 383,086 39,317
201 Le+2gH| 262,403 222,686 39,717
01 AtR2teld] 6,200 1,200 5,000
OdHZF M H MA 1,200,000& * 12 1,200
OHIZY 21 & 5,000,008 * 141 5,000
02 22| 256,203 201,486 3,717
OXPSHY FR3HR U H39D 160,476
—&3NMER 9,500,000& = 12& 114,000
—=JIEE2SAY AE= 400,000& * 128 4,800
—nEte et 300,000& = 12& 3,600
—AUEBSS ABR
21,0002 60314 * 128 16,120
~HUXE ABE 100,008 * 604 * 122 7,200




SN BEEAA
I SR (YUTTHE/LYHE)
R Salze] (&2 AR
- _ _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao 0“1“;0” Hns2
—olgtm A9t 523,0002 * 129 6,276
—SEEHYS MRIH AR2
82,500 * 23|40 * 128 1,980
—EE2 S3HAS M
2,500,000 » 3" 7,500
OAl&EZEH| SXIH 95,727
—we)| ¥ SAEH SX2$
926,428,0002 * 7/100 64,850
—EEESHUSAIALY SR EL
248,231,440 * 7/100 17,377
—AFRA THHHXIO [ SA8Z2 &X
1,500,000 * 73 10,500
—grERH| SX8S 3,000,000 * {14l 3,000
405 KHAHESHI 160,000 120,400 39,600
01 RHAHL2EF SH| 160,000 120,400 39,600
OIPEzED| 2 640,000 * 50CH 32,000
OCIp®E3| 2 40,0008 * 50CH 2,000
OLEUAES g 2ale Wi
40,000,0002 * 1Al 40,000
OS3HHI| & HESFHAAY 3=
86,000,000 * 1Al 86,000
HESHUAH|(SZMAA) (JIEHDIE} 110, 170 108,854 1,316
Jl=3H 110,170 108,854 1,316
Jl=3| 110, 170 108,854 1,316
201 LBt=2YH| 26,170 25,394 776
01 At222IH 26,170 25,394 776
O=AMax g 16,0002 * 208tA » 122 3,840
OS2 A 7,0002 * 641 x 209 » 122 10,080
Ot 100,000 * 122 1,200
OARR T2 50,0008 * 12’ 600
OARE 24| 9,250
—SADI(UE) =2l 1,000,000 = 1CH 1,000
—ZRIHD| 22| 100,000 = 504 * 50/100 250
—2AD| ElY 200,0002 * 53| * 1CH 1,000
—ZelHII(E%) EY
200,0002 * 53| * 5CH 5,000
—I2IHI(Z) EY
200,000 * 53| * 1CH 1,000
—PC #=2| 100,000 * 20CH * 20/100 400
—JIEt==2IH] 50,0002 » 12% 600
OJIE} AFREEH] 5,000 » 2094 » 12€ 1,200
202 04| 79,200 78,660 540
01 2U04d| 79,200 78,660 540
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